# Fort Bend County Tabulation B18-087 Furniture and Shelving for Mission Bend Library

## Awarded in CC 7/24/18: Low Bidder per Section

Furniture and Shelving Item Sections	Library Design Systems	Library Interiors of Texas
Form 1295	Yes	Yes
Part 1: Pre-Manufactured Furniture		
Section 1: Stacking Chairs, Public Task Chairs, Tall Stools and Tables	No Bid	No Bid
Section 2: Conference and Computer Tables	No Bid	No Bid
Section 3: Lounge Chairs, Sofas and Occasional Tables	No Bid	No Bid
Section 4: Staff Task Chairs, Circulation Tall Stools and Workroom/Office Furniture	No Bid	No Bid
Section 5: Charging Station and Seating	7,549.32	\$9,885.74
Part 2: Steel and Wood Furniture		
Section 1: Steel Shelving	Disqualified: Does Not Meet Specifications	\$123,915.42
Section 4: Custom Wood Tops and End-Panels for Steel Shelving	Specifications	\$73,840.76
Total Section 1 and Section 4:		\$197,756.18
Section 2: Children's Wood Reading Tables	Disqualified: Does Not Meet Specifications	\$4,733.11
Section 3: Children's Reading Chairs and Stools	specifications	\$7,141.32
Total Section 2 and Section 3:		\$11,874.43

Demco - Disqualified: Did not provide all Proof of Insurance as required.

KI - Disqualified: Altered bid.

### Fort Bend County Tabulation B18-087 Furniture and Shelving for Mission Bend Library

## Awarded in CC 7/24/18: Low Bidder per Section

Vendor Name:

Library Design Systems, Inc.

PART I:	PRE-MANUFACTURED FURNITURE				
SUBSECT	TION 5: CHARGING STATION & SEATING				
Item #	Description	Quantity	Unit	Unit Bid	<b>Extended Price</b>
				Price	
Z-1	Charging table. 20" D x 72" L x 42" H, wood base Oak Ebony, end	2	each	\$ 3,104.32	\$ 6,208.64
	bases have adjustable glides, panel base and underside of table				
	equipped with removable panel for wire management.				
	Quantity 2, Power Band 3, model PB3 electrical units inset in each				
	table (confer with owner for final location and orientation)				
	Arcadia Avelina A-207242				
	Laminate: Pionite Black Ashwood SW101-AW				
	Tables to be located in the following rooms in the quantities indicated:				
7.0	Under glass windows of computer lab $-2$	4	1.	¢ 225.17	¢ 1.240.69
Z-2	Charging table stools, 30" H wood seat, 21.25" W x 20" D x 31.25 H",	4	each	\$ 335.17	\$ 1,340.68
	$\frac{1}{2}$ " diameter steel frame, 350 lbs. capacity, stackable to 5 high, with				
	glides, sculpted plywood seat.				
	Encore Wake Stool				
	Wood Seat: Oak Ebony				
	Frame: #79 Metallic Champagne				
	Chairs located in the following rooms in the quantities indicated.				
	Under glass windows of computer lab – 4				

DADT II.	Vendor Name:		LIDIA	I y I	nteriors of	псл	as					
	ART II: STEEL & WOOD FURNITURE UBSECTION 1: STEEL SHELVING											
Item #	Description	Quantity	Unit	τ	nit Bid Price	Ext	ended Price					
S-1	Sections of single-faced shelving,	27	each	\$	203.88	\$	5,504.76					
	42" high X 12" deep X 36" wide											
	Each section shall have one (1) 12"-deep flat closed base shelf and two											
	(2), 12"-deep adjustable shelves.											
	All frames will have a fully-enclosed steel back.											
	Custom wood/laminate tops will be on all sections in both the Juvenile											
	area and the three (3) sections behind the children's reference desk as											
	described in Section 4 of the bid document.											
	Custom wood end-panels in Section 4 of the bid document will											
	be located on the ends of the shelving behind the children's reference											
	desk as well as ends of each shelving area of the Juvenile perimeter											
	shelving.											
	(Children's perimeter book shelving & Children's reference desk area)											
S-2	Sections of single-faced hinged periodical shelving,	3	each	\$	259.87	\$	779.61					
	48" high X 12" deep X 36" wide.											
	Each section shall have one (1) 12"-deep closed base shelf and two (2)											
	hinged periodical shelves each with a divider shelf supplied with two											
	dividers and a Custom wood/laminate top as described in Section 4.											
	All frames will have a fully-enclosed steel back.											
	Custom wood end-panels in Section 4 of this document will be											
	supplied at the ends of this area with one (1) 6" end panel between the											
	48" and the 42" sections and one (1) 48" end panel on the opposite end											
	of the 48" section area.											
	(Children's and parenting periodicals)			<i>ф</i>	250.45	<i>•</i>	£ 100.00					
S-3	Sections of double-faced divider-type steel picture-book shelving with	24	each	\$	270.45	\$	6,490.80					
	integral back,											
	42" high X 24" deep X 36" wide. Each double-faced section shall have two (2) 12"-deep, flat closed											
	base shelves and four (4) 12"-deep adjustable shelves.											
	Each shelf, including the base shelves, be supplied with five (5)											
	dividers.											
	Area will be supplied with Custom wood/laminate tops and custom											
	wood end-panels in Section 4 of the bid document.											
	(Picture/easy books)											
S-4	Sections of double-faced steel shelving,	52	each	\$	292.18	\$	15,193.36					
	66" high X 20" deep X 36" wide.											
	Each double-faced section shall have two (2) 10"-deep, flat closed											
	base shelves, eight (8) 10"- deep adjustable shelves, and a steel canopy											
	top to match the depth of the base. Five (5) 2" offset center backstops											
	per section.											
	Area will be supplied with Custom wood end-panels Section 4 of the											
	bid document. (Juvanila books & Middla Grada books)											
	(Juvenile books & Middle Grade books)											

B +	Vendor Name: Library Interiors of Texas									
	STEEL & WOOD FURNITURE (cont'd)									
SUBSECT Item #	TION 1: STEEL SHELVING (cont'd)	Orrentiter	T	т	Jnit Bid	E4				
S-5	Description	Quantity	Unit	ι	Price	Exte	ended Price			
	Sections of double-faced steel shelving.	6	each	\$	336.61	\$	2,019.66			
55	Overall unit: 66" high X 22" deep X 36" wide	Ũ	cuen	Ψ	550.01	Ψ	2,017.00			
	Side one (1) is 66" high X 12" deep X 36" wide with four (4) sections,									
	each with one (1) 10"-deep, flat closed base shelf,									
	four (4) 10"- deep adjustable shelves and five (5) 2" offset center									
	section.									
	AND two (2) sections of two (2) 12"-deep hinged periodical base									
	shelves and six (6) hinged periodical shelves each with a divider shelf									
	underneath supplied with two dividers (to be used to create individual									
	compartments for storage of back issues).									
	Side two (2) is 66" high X 10" deep X 36" wide with 6 sections, each									
	with one (1) 10"-deep, flat closed base shelf, four (4) 10"- deep									
	adjustable shelves and five (5) 2" offset center backstops per section.									
	Steel canopy tops to match the depth of the base on each side.									
	Area will be supplied with Custom wood end-panels Section 4 of the					1				
	bid document.					1				
	(Middle Grade periodicals and books)					1				
S-6	Sections of double-faced steel shelving,	6	each	\$	428.38	\$	2,570.28			
50	Overall unit: 66" high X 20" deep X 36" wide.	0	cuen	Ψ	120.50	Ψ	2,370.20			
	Side one (1) shall have sections each with one (1) 10"-deep, sloping,									
	closed base shelves; four (4) 8"-deep sloping video shelves all with									
	backs, slots, and six (6) dividers; Shelves shall slope at a seven-degree									
	angle.									
	Side two (2) shall have sections each with one (1) 10"-deep, flat closed									
	base shelf, four (4) media hanging racks.									
	Steel canopy tops to match the depth of the base on each side. Area									
	will be supplied with Custom wood end-panels Section 4 of the bid									
	document.									
	(Middle Grade & Juvenile AV)									
S-7	Sections of double-faced steel shelving,	6	each	\$	359.06	\$	2,154.36			
	66" high X 20" deep X 36" wide.									
	Side one (1) shall have sections each with one (1) 10"-deep, sloping,									
	closed base shelves; four (4) 8"-deep sloping video shelves all with									
	backs, slots, and six (6) dividers; Shelves shall slope at a seven-degree									
	angle.									
	Side two (2) shall have sections each with one (1) 10"-deep, flat closed have shalf four (4) 10", doep adjust his shallow and four (5) 2" offset									
	base shelf, four (4) 10"- deep adjustable shelves and five (5) 2" offset center backstops per section.									
	Steel canopy tops to match the depth of the base on each side. Area									
	will be supplied with Custom wood end-panels Section 4 of the bid									
	document.									
	(Middle Grade/Juvenile AV & Middle Grade/Juvenile book display)									
S-8	Sections of single-faced steel shelving,	22	each	\$	270.69	\$	5,955.18			
Alternate						1				
	90" high X 12" deep X 36" wide.					1				
	Each single-faced section shall have one (1) 12"-deep, flat, closed base					1				
	shelf, six (6) 12"-deep adjustable shelves, and seven (7) 2" offset					1				
	center backstops per section.					1				
	Two (2) steel end-panels per area for a total of six (6) end-panels.					1				
	No canopy tops.					1				
	(Youth workroom-4, Circulation workroom-7, Donated materials room-					1				
	11)					<u> </u>				

	STEEL & WOOD FURNITURE (cont'd) FION 1: STEEL SHELVING (cont'd)						
Item # S-9	Description	Quantity	Unit	Unit Bid Price		Extended Pric	
	Sections of double-faced steel shelving, 78" high X 24" deep X 36" wide. Each double-faced section shall have two (2) 12"-deep, flat closed base shelves, ten (10) 12"- deep adjustable shelves. Five (5) 2" offset center backstops per section. Steel canopy tops to match the depth of the base on each side. Area will be supplied with Custom wood end-panels Section 4 of the bid document. (Customer holds-5, Adult Fiction-55, Adult Non-Fiction-67, New Books-6, Young Adults-10, World Language-5)	148	each	\$	357.06	\$	52,844.88
S-10	Sections of single-faced shelving, 42" high X 12" deep X 36" wide. Each section shall have one (1) 12"-deep flat closed base shelf and two (2), 12"-deep adjustable shelves. All sections have a steel canopy top to match the base. All frames have a fully-enclosed steel back. Custom wood end-panels in Section 4 of the bid document will be located on the ends of each shelving area of the Adult perimeter shelving. (Adult perimeter book shelving)	17	each	\$	232.85	\$	3,958.45
S-11	Sections of single-faced steel shelving, 78" high X 12" deep X 36" wide. Each single-faced section shall have one (1) 12"-deep, flat closed base shelf, five (5) 12"-deep adjustable shelves and six (6) 2" offset center backstops per section. All sections have a steel canopy top to match the base. Custom wood end-panels in Section 4 of the bid document will be located on the ends of each shelving area of the Adult-Spec. collections perimeter shelving. (Friends, Large Print, Test, & Book display)	20	each	\$	240.41	\$	4,808.20
S-12	Sections of double-faced hinged periodical shelving, Side one (1) each section shall have one (1) 12"-deep closed base shelves and four (4) hinged periodical shelves each with a divider shelf underneath supplied with two dividers (to be used to create individual compartments for storage of back issues), and a canopy top. Side two (2) each section shall have one (1) 12"-deep closed baseshelf and four (4) hinged periodical shelves with two-part hinged Plexiglas covers for newspapers. Steel canopy tops to match the depth of the base on each side. Area will be supplied with Custom wood end-panels Section 4 of the bid document. (Adult periodicals)	8	each	\$	646.12	\$	5,168.90
S-13	Sections of double-faced steel shelving, 78" high X 20" deep X 36" wide. Each double-faced section shall have two (2) 10"-deep, sloping, closed base shelves; ten (10) 8"-deep sloping video shelves all with backs, slots, and six (6) dividers. Shelves shall slope at a seven-degree angle. Steel canopy tops to match the depth of the base on each side. Area will be supplied with Custom wood end-panels Section 4 of the bid document. (Adult audiobooks and DVDs)	10	each	\$	457.71	\$	4,577.10

Vendor Name: Library Interiors of Texas											
	STEEL & WOOD FURNITURE (cont'd)										
SUBSECTION 1: STEEL SHELVING (cont'd)   Item # Description Quantity Unit Unit Bid Extended Price											
Item #	Description Qua		Unit	ι	Unit Bid	Extended Price					
S-14	Sections of double-faced steel shelving,	2	each	\$	Price 528.14	\$	1,056.28				
		2	caci	φ	520.14	φ	1,050.28				
Alternate	90" high X 24" deep X 36" wide.										
	Each double-faced section shall have two (2) 12"-deep, sloping, closed										
	base shelves, twelve (12) 12"- deep adjustable shelves, seven (7) 2"										
	offset center backstops per section, and two (2) steel end-panels.										
	No canopy tops.										
	(Donated Materials Room-2)										
S-15	Sections of single-faced steel shelving,	1	each	\$	219.30	\$	219.30				
	90" high X 12" deep X 30" wide.										
7 mornate	Each single-faced section shall have one (1) 12"-deep, sloping, closed										
	base shelves, six (6) 12"- deep adjustable shelves, and seven (7) 2"										
	offset center backstops per section.										
	No canopy tops.										
	(Donated Materials Room-1)										
S-16	Sections of single-faced steel shelving,	1	each	\$	219.30	\$	219.30				
	90" high X 12" deep X 24" wide.										
	Each single-faced section shall have one (1) 12"-deep, sloping, closed										
	base shelves, six (6) 12"- deep adjustable shelves, and seven (7) 2"										
	offset center backstops per section.										
	No canopy tops.										
	(Donated Materials Room-1)										
S-17	Sections of steel corner unit,	2	each	\$	244.41	\$	488.82				
	90" high X 12" deep X 12" wide.	-	cuell	Ψ		Ŷ					
7 internate	Each unit to connect to 90" high X 12" deep X 36" wide										
	single-faced steel shelving with closed base.										
	No canopy tops.										
	(Donated Materials Room-2)										
S-18	Extra regular flat shelves, 10" deep.	10	each	\$	14.58	\$	145.80				
S-19	Extra regular flat shelves, 12" deep.	10	each	\$	16.20	\$	162.00				
S-20	Extra hinged periodical shelves.	2	each	\$	32.81	\$	65.62				
S-21	Extra hanging bag racks	8	each	\$	30.38	\$	243.04				
~ ~ ~				*		<b>.</b>					
S-22	Book supports.	1	each	\$	9,289.66	\$	9,289.66				
	See description for quantity.										
	Standard findable or flat book supports, 9" high, with cork base.										
	(BSN9 or equivalent)										
G 02	Quantity: 1 per flat shelf, 1 per all bases.	10		¢	4 50	¢	15.00				
S-23	Backstops, 2" equal to Estey DBB36	10	each	\$	4.50	\$	45.00				

#### PART II: STEEL & WOOD FURNITURE (cont'd) SUBSECTION 2: CHILDREN'S WOOD READING TABLES

	TON 2: CHILDREN'S WOOD READING TABLES							
	urnishings and wood trim shall be natural solid Oak (stained to match Fo	ormica Peca	n Woo	odlii	ne 5883-58	) clea	r sealer.	
Section 2 a	nd 3 shall be bid collectively.	-				-		
Item #	Description	Quantity	Unit	τ	Jnit Bid Price	Extended Price		
T-1	Children's reading table, 36" round X 25" high, laminate top, leg-base. Same general description except the legs shall be square glued-up solid natural solid Oak (stained to match Formica Pecan Woodline 5883-58) proportioned appropriately for the 25" height. (Worden 7200 or equivalent) Laminate: Nevamar Kool Kiwi S5057T Textured	2	each	\$	1,577.71	\$	3,155.42	
T-2	Children's puzzle table, 36" round X 15" high, laminate top, leg-base. Same general description as T-1, except with no apron. (Worden 7200 or equivalent) Laminate: Wilsonart Orange Grove Matte D501-60	1	each	\$	1,577.71	\$	1,577.71	
All wood f sealer. Th	<b>CION 3: CHILDREN'S READING CHAIRS AND STOOLS</b> urnishings and wood trim shall be natural solid Oak (stained to match Fo is section shall be bid collectively with section two.	ormica Peca	n Woo	odliı	ne 5883-58	) with	clear	
	ION 2 and 3 shall be bid collectively.					1		
Item #	Description	Quantity	Unit	l	Jnit Bid Price	Exte	ended Price	
K-1	Children's reading chairs, slat back, all wood, sized appropriately for ages 2-6.	8	each	\$	396.74	\$	3,173.92	
K-2	Children's stools, natural solid Oak (stained to match Formica Pecan Woodline 5883-58) wood, 17" wide X 16" deep X 16" high, sled base	10	each	\$	396.74	\$	3,967.40	

Library Interiors of Texas

	TION 4: CUSTOM WOO			ELS FOR STEEL S	1	1		_
Item #		Descripti	ion		Quantity	Unit	Unit Bid Price	Extended Pri
EP-1		End-Pane	els		1	lot	\$ 63,075.68	\$ 63,075.6
Quantity	Nominal Size	Price per Each	Ex	tended Price				
1	06" X 14" single-faced (for shelving S-2)	\$ 241.88	\$	241.88				
11	42" X 14" single-faced (for shelving S-1, S-10)	\$ 385.97	\$	4,245.67				
1	48" X 14" single-faced (for shelving S-2)	\$ 385.97	\$	385.97				
6	42" X 26" double-faced (for shelving S-3)	\$ 603.21	\$	3,619.26				
18	66" X 22" double-faced (for shelving S-4, S-6, & S-7)	\$ 693.54	\$	12,483.72				
2	66" X 26" double-faced (for shelving S-5)	\$ 603.21	\$	1,206.42				
8	78" X 14" single-faced (for shelving S-11)	\$ 486.00	\$	3,888.00				
4	78" X 22" double-faced (for shelving S-13)	\$ 718.93	\$	2,875.72				
44	78" X 26" double-faced (for shelving S-9 & S-12)	\$ 775.66	\$	34,129.04	-			
Tops	Custom wood/laminate to shelving, and three (3) late department.		-	• •	1	lot	\$ 10,765.08	\$ 10,765.0
Quantity	-	Nominal S						
3	24" wide X 24' long (For	double-faced	l picture bo	ok shelving				
	(Shelving S-3): Top closest to children g D501-60;	gathering area	a: Wilsonar	t Orange Grove				
	Middle top: Nevamar K	ool Kiwi Tex	tured S505	7T;				
	Top closest to Youth De		-					
1	12" wide X 9' long (Shelv (Shelving S-1),			,				
1	12" wide X 27' long (Juve	amar Sunray enile perimete			-			
	(Shelving S-1), · Top: Neva	amar Sunray	Fextured S4	022T				
1	12" wide X 15' long (Juve (Shelving S-1),							
		amar Sunray						
1	12" wide X 30' long (Juve (Shelving S-1),	•	·					
1	12" wide X 9' long (Juver	amar Sunray T nile perimeter			-			
	(Shelving S-1), · Top: Neva	amar Sunray	Textured S4	022T				
3	18" wide X 3' long (Juver				1			
	<b>T</b> N	amar Sunray	Taataana d CA	000				